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MATH 161            Solutions:   quiz v	 
        
[bookmark: _GoBack]Problems 1 – 3 are worth 1 pt each
	Hint:  It may be helpful to think about 
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Solution: (c)    
Because 
Now 
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Solution: (a)    
Because 
Now 
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Solution: (c)    
Because 
This happens when x = 0, 2, and 4.    Also, f(g(x)) is negative for x > 4. Alternatively f(g(4)) = f(0) = 0 identifies answer (c).


4.  [3 pts each] Find an anti-derivative of each of the following:

(a)   1 + 3x2 – 9x5

Answer: 

(b)    3 sin (5x)

Answer: 



(c)    1 +3ex + 4 cos x

Answer:  + 4 sin x


(d)     

Answer: 


(e) 

Answer: 


(f)   1 + sec2 x

Answer: 



5.  [5 pts] Find any and all critical points of the function  

Solution:





Hence the critical points are x = -3/2 and x = 3/2.  


6.  [5 pt each]  Using implicit differentiation, find the equation of the tangent line to the curve y4 + xy = 4 at the point P = (3, 1)


Solution:  d/dx (LHS) = d/dx (RHS)

Substituting x = 3 and y = 2:       

Hence dy/dx = -1/7  and the tangent line is:

y – 1 = - (1/7) (x – 3)



7.  [3 pts each] Find the derivative of each of the following functions.  You need not simplify.

(a)  

Solution:
=

==  


(b)  y = arctan(1+e2x)

Solution:  


(c) 

Solution:   


(d) y = sec(1 + 3ln x)

Solution:   
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[image: http://faculty.cbhs.org/smorgan/Web%20Documents/Honors%20Calculus/Class%20Notes/Derivative%20Rules.JPG]
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3. Given the graphs ofthe function g(z) and () in Figures 3.11 and 312, which of (a}~d) represents £(g(z))?
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CHAIN RULE - BY ASATASIA WWW.TOONDOO.COM

My name is £'(g(x))-
I'm pregnant with a function;
differentiate me!

Don't forget to differentiate Together, we make a happy
my baby, g'(x). family: F'(x)=  '(g(x))g'(x)-
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1. Given the graphs of the functions f () and g() in Figures 3.7 and 3.8, which of (a(d)is a graph of /(g(x))?

v v
3
9(z), 2
N 1@
'
1
1 2 E 1 2 3"
Figure 37 Figure 38
L o v
6
2
4
1
2
1 2 £ 1 2 3"
@ v @ v
3 0
5
2
6
4
1
2





image2.png
2. Given the graphs of the functions f(z) and g(x) in Figures 3.9 and 3.10, which of (a)}~(d) is a graph of f(g(z))?
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